1.

@ sA =80°°]H /B =60° o|t},

® (B=/.C

® s/A =50°°|H /B = 45° o]t}

DC

@ BD






@ 10cm @ 15cm

® 5cm

B 25cm

@ 20cm



4.

th& A ABC 9] 942 O &l & o, zx & 27]=?

A
/|
40°
oy
B = C
xr
@D 10° ® 15° 3 20° @ 95°

®3) 30°



5. H07}aABC 9 QAL off, zx o 27]=2

A

25°

B 30

Q

@D 15° @ 20° B 25° @ 30° B 35°



Al zte] o 5 A S ST,
Al zre] ol 58 A0 WAL I e gt

= W o

@ G114 & WA o] Aels W gow sl 9g 1dt

@ 1A HAH7A 9 72 E R E2 2 5he 9o 19

)

@ H 0 oA

® A O oA BAAZIA L] AHE HIz]E 0 2 1= Y-8 T3t

rok
rE
_,d
E
N
AL
i
r
B
all
lo
Hu
_O'L
rr
o
tlo
[
r
k)

i



7.

AABC oA A1
HA] BC of B3

o]

o
R



& 1L o5 RAZY ABC oItk A 0 & @4, 1 1 el n
/A =38° /0 =76° € W, AIBO 9] A27]=?

A

/\

38/
D\ 76°
\
B C

@D 14° ®) 15.9° 3 16.5° @ 17° B 17.5°



9.

e agy e
o, zx & 2717

AABC °4 AB = AC ¢

@D 45° ® 55° ® 65° @ 75°

® 85°



10. t= 23 go] FHo| dA Fo] HolzE HAH. /ACB =50°
oo, x 9] 277

D 45° ® 50° B 55° @ 60° B 65°






12.

o Z1HelA /APB 9] 271 ?

@D 20° ® 40° 3 80° @ 90°

3 140°



13.

o2 19 9] AABC A /A = 70°, ¥ BC A
o] 2 M oA AB ¢ AC of Y& 5419 =
98 Z47F D, E 2 51| MD = ME ©|t},
/BMD ] 27]=9 X
B L M l C

O 35° @ 30° ® 25°
@ 20° B 15°



14.

@ AQPO = ARPO
® QO =PO
® /QOP = /ROP

@ QO =RO
@ /0PQ = /OPR



15. o= 293 Zol B 7F A2 AZ44249 ABC o] HIH AC 9
FHS 0= & o, /BAC = 50° o[t} zx O] 277

A

50

@D 60° @ 70° 3 80° @® 90° 3 100°



16. oF2 133} Zro] Al ¥ o7t Z+Z 6cm, 8cm , 10cm €1 A2
AABC 7} itk A 1+ aABC 9] o] L] vtz & o] dol7t
2cm ¥ W AABC 9] Ho]&=?

ofl

@ 16cm? @ 18cm? @ 20cm?

@ 22cm? B 24cm?



% ABC o4 AD = CD, AB = 6cm ©]al, ZACB = 30°

ol&=?
A
60,rr’1
1
]
BL 30 ~C
~z.D___--
® 6cm 3 8cm @® 10cm 3 12cm



® /0AD = /OBD @ AOAD = AOBD

® AD=BD @ AOCF = AOCE
3 OA =0B=0C



19. g 139 AABCOA A 1= Yoot LCAI = 25°, /ACB =60°
A, x4+ 2y0 A7]=2

@D 120° @ 125° ® 145° @ 155° ® 165°



20. THe ZHA W AB 7} €0 o BT ¢ 0 %= sABC 9] 94 ¢
91 Yol 5 90, 19 WA= Zol7} 247} sem, 2em
oD, B, Fi HAAY W, sABC 9] Hoj?

@ 10cm? @ 15cm? @ 20cm?

@ 24cm? 3 25¢m?



